4 3

2 1
THIS DRAWING IS UNPUBLISHED. | RELEASED FOR PUBLICATION - .- Loc DIST REVISIONS
© COPYRIGHT  — BY TYCO ELECTRONICS CORPORATION. ALL RIGHTS RESERVED. J— J— B R DESCRIFTION DATE oW ARVD
DIM. D A1l | ECR-07-005813 13 MAR 07vdHTdB
) - B| ECR-07-013012 olyuNo7 [DC [TDB

H] | L] A 255 REF | .
rd . ,
L tyco J 4| 1O ~3;
; ,
_ | . \ )T
"] : | o o
[ I ] O ANbds 8|
i |
L
, (o]
& ek |
m /)l l6 9 REF
/\ O |
S Y i
\ \\_7 w, J 10
|
IM.
TDIM I; C ! hE 7% REF L—J
- : ' ‘ : 4 9 REF
o o T TH
- | oM Dimp .
7] ' !
o
<+ 11.6 Ref -
b % 37 - POS/TION COVER KIT
3| e 12 Ref
Pl 3
4.2 Ref | | TABLE A: ENVELOPE DIMENSIONS
- —_
: 3.5 Ref POS. DIM. A DIM. B DIM. C DIM. D DM. E
. ’| 09 8.3 24.4 15.6 30.8 39.2
o ko = 15 1.4 33.3 15.6 39.2 395
; | % = e s e s e ] [t
— Te] . . ) . - i
\ 3 S 3 PART NUMBER
" THIS DRAWING IS A CONTROLLED DOCUMENT. ™y b iepen |ty Tyco Electronics, Nederland BY
CHK - e
@ DIMENSIONS: TOLERANCES UNLESS AFEDCAMPSCHROER NAMEM 5~ Fertogenbosch. Netherlands
o OTHERWISE SPECIFIED: T DE BOER
CLIPZ(FOR 15P OR 25P) cLiPI(FOR 9P ONLY) 5 pLC .. TR D—SUB COVER SINGLE EXIT
1 PLC +£0,3 _ -
2 PLC t0,2
@E 3 PLC + - APPLICATION SPEC —
:N(I:II__ES + - +3 _ SIZE CAGE CODE | DRAWING NO RESTRICTED TO
MATERIAL FINISH WEIGHT = J—
9, 15 AND 25 - POS/TION COVER KIT _ . - A300778/G=1982208
CUSTOMER DRAWING SAENTS |7 ¢ 3 | B

AMP 1470-10 REV 31MARZ000



4 3 2 1
THIS DRAWING IS UNPUBLISHED. RELEASED FOR PUBLICATION -, - Loc DIST REVISIONS
© COPYRIGHT — BY TYCO ELECTRONICS CORPORATION. ALL RIGHTS RESERVED. N N B R DESCRIFTION DATE oW ARVD
_hwl{({) A1l | ECR-07-005813 13 MAR 07vdHTdB
B| ECR-07-013012 olJunoz |DC [TDB
T W NOTES:
: 1. MATERIAL: SEE TABLE B
- A~ 2. FINISH: SEE TABLE B
3 0
0 N2 3. NET WEIGHT : SEE TABLE C
4 BODY ENVELOPE DIMENSIONS SEE TABLE A
[
| .
. 5,1 0,75
TABLE B
09 POS | 1962208 | -1 2 3 4
SART NUMBER  |_15POS | 1982200 1 2 -3 4
25 POS | 1982210 1 2 -3 4
37 POS | 1982553 1 2 3 4
ITEM DESCRIPTION oty |oty |oty |oty |oTy |oTy [oTY |oTY [oTY |OoTY |OTY [OTY |OoTY [OoTY [OTY |OTY [MATERIAL FINISH
304" MIN NICKELPLATED
1 |BODY 2122|2222 |22)|2)|2)|2/2]2]2]|2|ABS 30u" CU MIN UNDERPLATED ALL OVER
2 |cLIP 1 1 1 1 1 ABS
304" MIN NICKELPLATED
3 |CLIP2 1] T T T STEEL 304" CU MIN UNDERPLATED ALL OVER
304" MIN NICKELPLATED
4 [#4-40 UNC LONG SCREW 2 2] 2|2 STEEL 304" CU MIN UNDERPLATED ALL OVER
304" MIN NICKELPLATED
5 [#4-40 UNC SHORT SCREW 2 12| 2|2 STEEL 3oﬂ" CU MIN UNDERPLATED ALL OVER
304" MIN NICKELPLATED
6 |M3 SHORT SCREW 21 2| 2| 2 |STEEL 30p" CU MIN UNDERPLATED ALL OVER
304" MIN NICKELPLATED
7 |STRAINRELIEF CLIP 2 2 2 2 |STEEL 30" CU MIN UNDERPLATED ALL OVER
304" MIN NICKELPLATED
8 [#4-40 UNC 12,6 SCREW 2 2 2 2 |STEEL 30p" CU MIN UNDERPLATED ALL OVER
304" MIN NICKELPLATED
9 |#4-40 UNC 16,8 SCREW 2 2 2 2 |STEEL 30" CU MIN UNDERPLATED ALL OVER
304" MIN NICKELPLATED
10 [#4-40 UNC HEX NUT 2 2 2 2 |STEEL 30p" CU MIN UNDERPLATED ALL OVER
301" MIN NICKELPLATED
11 [WASHER PLATE 2 | 2 2 | 2 2 | 2 |STEEL 303" MIN UNDERPLATED ALL OVER
THIS DRAWING IS A CONTROLLED DOCUMENT. ™'y nieipen o | gy Tyco Electronics, Nederland BY
CHK - Eloctronics ’s—Hertogenbosch, Netherland
DIMENSIONS: TOLERANCES UNLESS D.CAMPSCHROER ° crosemhes cherene
- OTHERWISE SPECIFIED: AFiVI'DDE BOER NAME
L _LDE_BOL D-SUB COVER SINGLE EXIT
1 PLC £0,3 _ -
(§§> 2 PLC t 0,2
3 PLC + - APPLICATICN SPEC —
4 PLC + - SIZE CAGE CODE | DRAWING NO RESTRICTED TO
ANGLES +3 —
MATERIAL FINISH WEIGHT _ A3 00779 ©=, ’] 9 82208 _
- - CUSTOMER DRAWING SAE 4 P o ¥ 1R B

AMP 1470-10 REV 31MARZ000




4 3 2 1
THIS DRAWING IS UNPUBLISHED. RELEASED FOR PUBLICATION Loc DIST REVISIONS
© COPYRIGHT  — BY TYCO ELECTRONICS CORPORATION. ALL RIGHTS RESERVED. J— J— B R DESCRIFTION DATE oW ARVD
A1 | ECR—07-005813 13 MAR 07vdHTdB
B| ECR-07-013012 ordunoz |DC [TDB
FOR COMPONENTS FER KIT
SEE TABLE B
Vs ~ NOTES
1. DIMENSION:
CARTON: SPOS  458X351X358mm
15P0S  412X264X364 mm
25P0S  420%294X355 mm
37POS  458X351X358 mm
1 [ 2. QUANTITY: SEE TABLE €
[ il 3. WEIGHT: SEE TABLE C
4. PACKAGE SPEC REFERENCE TO 107-115 Rev—W
= TABLE C:
TYCO-ELECTRONICS
1 D ARTNUNBER SET/BAG | PACKAGING QUANTITY/BOX |NW(Kg}| GW(Kg)
; 1982208—1 50 1000 SET/BOX 5.0 6.0
1982208—2 50 1000 SET/BOX 13.0 | 140
19822083 50 1000 SET/BOX 7.0 8.0
1982208—4 50 1000 SET/BOX 7.0 8.0
19822091 50 500 SET/BOX 8.0 9.0
19822092 50 500 SET/BCX 120 | 130
19822093 50 500 SET/BOX 9.0 10.0
E SEE NOTE - 19822094 50 500 SET/BOX 9.0 10.0
" 19822101 50 500 SET/BOX 3.0 10.0
% % % 19822102 50 500 SET/BOX 13.0 | 140
= = = 1982210-3 50 500 SET/BOX 100 | 11.0
FicETEs[FE s /
1982210—4 50 500 SET/BOX 10.0 1.0
A 19825531 50 500 SET/BOX 1.0 | 12.0
% % '.' % LY 19825532 50 500 SET/BOX 5.0 | 16.0
IR R \ gf 19825553 50 500 SET/BOX 120 | 130
_— L 1982553—4 50 500 SET/BOX 12.0 13.0
|_
o)
ol =l R =R =] z
= Ll
= = = = = = Ll
Fiey[FVEy[iies 7 OUTER BOX
y
THIS DRAWING IS A CONTROLLED DOCUMENT. |™}y b iicinen o | feyaemy Tyco Electronics, Nederland BV
CHK - Eloctronics 's—Hertogenbosch, Netherlands

D.CAMPSCHROER

DIMENSIONS: TOLERANCES UNLESS
OTHERWISE SPECIFIED: AFiVI'DDE BOER NAME
mm = J—

A _LDE_BOE D—SUB COVER SINGLE EXIT
1 PLC +0,3 -

@E 2 PLC +0.2 — _
3 PLC + - APPLICATION SPEC
4 PLC + - SIZE CAGE CODE | DRAWING NO RESTRICTED TO
[ C=1982208

MATERIAL FINISH WEIGHT _ A 3 O O 7 7 9 — _
CUSTOMER DRAWING E P 3 ¥z B

AMP 1470-10 REV 31MARZ000




